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1-I: 'HNMR (CDCls, 600 MHz)
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1-I: C NMR (CDCl;, 150 MHz)
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1-I2: 'TH NMR (CDCls, 500 MHz)
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1-I: 'HNMR (CDCls, 125 MHz)
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2-Br: 'HNMR (CD;0D, 500 MHz)
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2-B1j
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: BCNMR (CDs0OD, 125 MHz)
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6-I: P NMR (CDCl3, 240 MHz)
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6-I: 'HNMR (CDCls, 600 MHz)
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6-I: 3C NMR (CDCls, 150 MHz)
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7-1: 3'P NMR (CDCls, 240 MHz)
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7-I: 'HNMR (CDCls, 600 MHz)

S8 0’6 §'6 00T S0T OTI

0’8

HIYs [e1wsYD
0 0T ST 0Z ST 0€ S€ Ov Sy 0SS &S 09 SS9 0L SZ

00

.00

1.18
1.03
0.92
.14
1.08

.01

B.23

drdd b

-

15.36—

-

/

///

S12

—8.74

8.07
8.06
7.88
/7.86

7.64
7.63
7.53

7.50
/7.48

7.47
N7.37
736
L7.35

\7.26

—4.17

3.57
L3554
~-3.50

3.45
\3.32

CDCI3



7-I: BC NMR (CDCl;, 150 MHz)
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9a: '"H NMR (CDCls, 600 MHz)
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9a: 13C NMR (CDCh, 150 MHz)
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9b: 'H NMR (CDClz, 600 MHz)
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9b: 13C NMR (CDCls, 75 MHz)
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9¢: 'THNMR (CDClz, 500 MHz)
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9¢: *C NMR (CDCl3, 125 MHz)
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10a: >'P NMR (CDCls, 160MHz)
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10a: 'H NMR (CDCls, 600 MHz)
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10a: *C NMR (CDCls, 150 MHz)
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10b: 3'P NMR (CDCls, 160MHz)
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10b: 'H NMR (CDCls, 600 MHz)
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10b: 3C NMR (CDCls, 150 MHz)
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10c: *'P NMR (CDCl;, 160MHz)
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10c: '"H NMR (CDCls, 600 MHz)
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10c: 3C NMR (CDCls, 150 MHz)
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12a: 'HNMR (CDCL, 600 MHz)
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12a: ®*C NMR (CDCls, 150 MHz)
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12b: '"H NMR (CDCl3, 600 MHz)
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12b: 3C NMR (CDCls, 150 MHz)
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12¢: '"HNMR (CDCls, 600 MHz)
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12¢: 3C NMR (CDCls, 150 MHz)
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14: 'TH NMR (CDCls, 600 MHz)
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CNMR (CDCL, 150 MHz)
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15: BC NMR (THF-ds, 125 MHz)
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16: 3C NMR (THF-ds, 150 MHz)
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17: 3P NMR (CDCI3, 240 MHz)
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17: 'THNMR (CDCls, 600 MHz)
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17: 3C NMR (CDCl, 150 MHz)
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18: 3P NMR (CDCI3, 200 MHz)
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18: 3C NMR (CDCl, 150 MHz)
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19: 3P NMR (CD;0D, 200 MHz)
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19: 'H NMR (CD;OD, 500 MHz)
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19: 3C NMR (CD;0D, 125 MHz)
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19-I: 3P NMR (CD:0D, 200 MHz)
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19-I: "H NMR (CDs;OD, 600 MHz)
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19-I: *CNMR (CD;0D, 150 MHz)
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